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M. Com. (Fourth Semester)(Main/ATKT) 
EXAMINATION, 2020 

(Optional-Specialization) 

[Optional Group (B) Marketing] 

Paper B—III 

PRODUCTION MANAGEMENT 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 
 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  
(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 
(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 
Choose the correct answer : 

1- ßmRiknu izcU/k fdlh miØe dh fØ;kvksa dk og Hkkx gS] tks izHkkoh 
fu;eu rFkk fu;kstu dh izfØ;k }kjk lkefxz;ksa dks fufeZr mRiknu esa 
:ikUrfjr djrk gSAÞ ;g ifjHkk”kk fdlus nh gS \ 

¼v½ ,yoqM ,l- cQk 
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¼c½ izks- bZ- ,Q- ,y- czhp 

¼l½ fofy;e oksfjl 

¼n½ buesa ls dksbZ ugha 
“Production Management is that part of the activities of an 
enterprise which through the process of effective regulation 
and planning, transforms materials into manufactured 
production.” Who has given this definition ? 

(a) Ellwood S. Buffa 

(b) Prof. E. F. L. Breech 

(c) William Voris 

(d) None of these 

2- mRiknu iz.kkyh ds rgr nks mi&iz.kkfy;k¡ gSaA os gSa % 

¼v½ fuekZ.k vkSj ifj”dj.k mi&iz.kkyh 

¼c½ fu;a=.k vkSj mRiknu mi&iz.kkyh 

¼l½ :ikarj.k vkSj fu;a=.k mi&iz.kkyh 

¼n½ buesa ls dksbZ ugha 
There are two sub-systems under production system. They  
are : 

(a) Manufacture sub-system and finishing sub-system 

(b) Control and production sub-system 

(c) Conversion and control sub-system 

(d) None of these 

3- vkarjkf;d iz.kkyh dh izeq[k fo’ks”krk,¡ gSa % 
¼v½ mRiknksa dk mRiknu de ek=k esa fd;k tkrk gSA 

¼c½ mRiknksa dk mRiknu cM+h ek=k esa fd;k tkrk gSA 
¼l½ e/;orhZ oLrqvksa dh lwph NksVh gSA 
¼n½ buesa ls dksbZ ugha 
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Main characteristics of Intermittent System are : 

(a) Products are produced in small quantities 

(b) Products are produced in large quantities 

(c) Inventory of intermediate goods is small 

(d) None of these 

4- vkarjkf;d vkSj fujarj mRiknu iz.kkfy;ksa ds chp varj ds izeq[k {ks=ksa 

dks uhps mfYyf[kr fd;k x;k gS % 

(i) vkarjkf;d mRiknu iz.kkyh esa oLrq dks vkns’k ij mRikfnr 

fd;k tkrk gS tcfd fujarj mRiknu iz.kkyh esa LVkWd ds fy,A 

(ii) vkarjkf;d mRiknu iz.kkyh esa iw¡th fuos’k ‘kk;n vf/kd gks 

tcfd fujarj mRiknu iz.kkyh esa iw¡th fuos’k ‘kk;n de gksA 

(iii) vkarjkf;d mRiknu iz.kkyh esa mRiknu izfØ;k yphyh gksrh gS 

tcfd fujarj mRiknu iz.kkyh esa mRiknu izfØ;k yphyh ugha 

gksrh gSA 

(iv) vkarjkf;d mRiknu iz.kkyh esa Je dh vko’;drk de gksrh gS 

tcfd fujarj mRiknu iz.kkyh esa Je dh vko’;drk vf/kd 

gksrh gSA 

mi;qZDr esa ls D;k lgh gS \ 

¼v½ (i) vkSj (ii) 

¼c½ (ii) vkSj (iii) 

¼l½ (iii) vkSj (iv) 

¼n½ (i) vkSj (iii) 
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Major areas of differences between intermittent and 

continuous production systems are outlined below : 

(i) In an intermittent production system items are 

produced on order and in continuous production 

system items are produced for stock. 

(ii) Capital investment may be high in intermittent 

production system and capital investment may be low 

in continuous production systems. 

(iii) Production process is flexible in intermittent 

production system and production process is not 

flexible in continuous production system. 

(iv) Requirement of labour is lower in intermittent 

production system and requirement of labour is higher 

in continuous production system. 

Which of the above is correct : 

(a) (i) and (ii) 

(b) (ii) and (iii) 

(c) (iii) and (iv) 

(d) (i) and (iii) 

5- fuEufyf[kr esa ls dkSu&lk ik¡p M’s dk fgLlk ugha gS \ 

¼v½ lkexzh 

¼c½ e’khu 

¼l½ xfr 

¼n½ i)fr 
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Which of the following is not a part of five M’s ? 

(a) Material 

(b) Machine 

(c) Motion 

(d) Method 

6- mRiknu ;kstuk vkSj fu;a=.k esa lapkyu dk lgh Øe gS % 

¼v½ :fVax&’ksM~;wfyax&izs”k.k&vuqorhZ 

¼c½ ‘ksM~;wfyax&:fVax&izs”k.k&vuqorhZ 

¼l½ izs”k.k&:fVax&’ksM~;wfyax&vuqorhZ 

¼n½ :fVax&’ksM~;wfyax&vuqorhZ&izs”k.k 

The correct sequence of operations in production planning 

and control is : 

(a) Routing-Scheduling-Dispatching-Follow-up 

(b) Scheduling-Routing-Dispatching-Follow-up 

(c) Dispatching-Routing-Scheduling-Follow-up 

(d) Routing-Scheduling-Follow-up Dispatching 

7- ^:fVax* ds fy, fuEufyf[kr esa ls dkSu&lk lgh gS \ 

¼v½ ;g la;a= esa dke dk izokg gSA 

¼c½ :V ’khV esa e’khu VwYl dh lwph ‘kkfey gS ftldk ikyu 

fd;k tkuk gSA 

¼l½ ;g lkexzh gSaMfyax lqfo/kkvksa ij fuHkZj djrk gSA 

¼n½ mi;qZDr lHkh 
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Which of the following is true for ‘Routing’ ? 

(a) It is flow of work in the plant. 

(b) Route sheets include list of machine tools that are to be 

followed. 

(c) It depends upon material handling facilities. 

(d) All of the above 

8- yksÇMx dks ifjHkkf”kr fd;k tk ldrk gS— 

¼v½ e’khu dks dPpk eky Hkstuk 

¼c½ e’khu fu;a=.k d{k esa ,d lkW¶Vos;j viyksM djuk 

¼l½ rS;kj lkexzh dks LVksj esa Hkstuk 

¼n½ lqfo/kkvksa dks dk;Z lkSaiuk 

Loading may be defined as : 

(a) Sending the raw material to the machine  

(b) Uploading a software in machine control panel 

(c) Sending the finished material to the store  

(d) Assign the work to the facilities 

9- ;fn lHkh izlaLdj.k midj.k vkSj e’khuksa dks fdlh mRikn ds lapkyu 

ds vuqØe ds vuqlkj O;ofLFkr fd;k tkrk gS] rks ys&vkmV ds :i esa 

tkuk tkrk gS % 

¼v½ mRikn ysvkmV 

¼c½ izfØ;k ysvkmV 

¼l½ fuf’pr fLFkfr ysvkmV 

¼n½ la;kstu ysvkmV 
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If all the processing equipments and machines are arranged 

according to the sequence of operations of a product, the 

layout is known as : 

(a) Product layout 

(b) Process layout 

(c) Fixed position layout 

(d) Combination layout 

10- fuEufyf[kr esa ls fdl m|ksx ds fy, vknzZ tyok;q lgk;d gS \ 

¼v½ dikl ¼dkWVu½ 

¼c½ bLikr 

¼l½ ykbV cYc 

¼n½ vkWVkseksckby 

For which of the following industry humid climate is  

helpful ? 

(a) Cotton 

(b) Steel 

(c) Light Bulb 

(d) Automobile 

11- izca/kd fuEufyf[kr esa ls fdl rjhds ls dk;Z ekud dk mi;ksx dj 

ldrs gSa \ 

¼v½ ‘ksM~;wfyax 

¼c½ {kerk dh ;kstuk 

¼l½ dk;ZdrkZvksa dks izsfjr djuk 

¼n½ mi;qZDr lHkh 

 [ 8 ] D–122 

 (B-24) 

Managers can use work standards in which of the following 

ways ? 

(a) Scheduling 

(b) Capacity planning 

(c) Motivating workers 

(d) All of the above 

12- dk;Z ekiu dh vkSipkfjd fof/k;k¡ fuEufyf[kr esa ls dkSu&lh gSa \ 

¼v½ dke dk uewuk ysus dh fof/k 

¼c½ le; v/;;u fof/k 

¼l½ iwoZ&fu/kkZfjr MsVk nf̀”Vdks.k 

¼n½ iz.kkyhxr nf̀”Vdks.k 

Formal methods of work measurement exclude which of the 

following ? 

(a) Work sampling method 

(b) Time study method 

(c) Predetermined data approach 

(d) Systems approach 

13- dk;Z ekiu fof/k tks fdlh dk;Z ds fy, le; ekud LFkkfir djus ds 

fy, lcls vf/kd ckj mi;ksx dh tkrh gS % 

¼v½ dke dk uewuk ysus dh fof/k 

¼c½ iwoZ fu/kkZfjr MsVk ǹf”Vdks.k 

¼l½ le; v/;;u fof/k 

¼n½ rkfRod ekud MsVk ǹf”Vdks.k 
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The work measurement method that is most often used for 

setting time standard for a job is :  

(a) The work sampling method 

(b) The predetermined data approach 

(c) The time study method 

(d) The elemental standard data approach 

14- dk;Z ekiu dk eq[; mís’; gS % 

¼v½ ;kstuk vkSj mRiknu dk dk;ZØe 

¼c½ ,d mfpr izksRlkgu ;kstuk rS;kj djuk 

¼l½ foØ; ewY; vkSj forj.k frfFk;ksa dk vuqeku yxkuk 

¼n½ mi;qZDr lHkh 

The main objective of work measurement is to : 

(a) Plan and schedule of production 

(b) Formulate a proper incentive scheme  

(c) Estimate the selling prices and delivery dates 

(d) All of the above 

15- le; v/;;u dk iz;ksx fd;k tkrk gS % 

¼v½ ekud ykxr fu/kkZfjr djus esa 

¼c½ e’khuksa dh la[;k fu/kkZfjr djus esa fd ,d O;fDr fdruh pyk 

ldrk gS 

¼l½ VqdM+k ewY; ¼dk;Z ewY;½ ;k izksRlkgu etnwjh fu/kkZfjr djus ds 

fy, ,d vk/kkj iznku djus esa 

¼n½ mi;qZDr lHkh 
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Time study is used to : 

(a) Determine standard costs 

(b) Determine the number of machines a person may run 

(c) Provide a basis of setting piece price or incentive 

wages 

(d) All of the above 

16- PERT fo’ys”k.k vk/kkfjr gS % 

¼v½ vk’kkoknh le; ij 

¼c½ fujk’kkoknh le; ij 

¼l½ lcls vf/kd laHkkouk le; ij 

¼n½ mi;qZDr lHkh 

PERT analysis is based upon : 

(a) Optimistic time 

(b) Pessimistic time 

(c) Most likely time 

(d) All of these 

17- ewy xfr le; v/;;u - -- - - - - -- - - - -- -- - ds nl gtkjosa esa ewy xfr ds fy, 

le; nsrk gSA 

¼v½ lsd.M 

¼c½ feuV 

¼l½ ?k.Vk 

¼n½ fnu 
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Basic motion time study gives times for basic motion in ten 

thousandths of : 

(a) Second 

(b) Minute 

(c) Hour 

(d) Day 

18- Iyk.V ysvkmV ¼la;a= vfHkU;kl½ ds ihNs lcls egRoiw.kZ mís’; gS % 

¼v½ lexz ljyhdj.k] ,dhdj.k dh lqj{kk 

¼c½ LFkku ds mi;ksx esa ferO;;rk 

¼l½ la;a= esa vf/kdre ;k=k dk le; 

¼n½ vklkuh ls fLFkr nqdkuksa dks iznku djus ds fy, 

The most important objective behind plant layout is : 

(a) Overall simplification, safety of integration 

(b) Economical use of space 

(c) Maximum travel time in plant 

(d) To provide conveniently located shops 

19- fuEufyf[kr esa ls dkSu&lh rduhd dk mi;ksx le; v/;;u esa HkŸks 

ds fu/kkZj.k ds fy, fd;k tkrk gS \ 

¼v½ Lohdr̀ U;kn’kZ 

¼c½ js[kh; izrhixeu 

¼l½ fu”iknu ewY;kadu 

¼n½ dk;Z U;kn’kZ 
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Which one of the following techniques is used for 

determining allowances in time study ? 

(a) Acceptance Sampling 

(b) Linear regression 

(c) Performance rating 

(d) Work sampling 

20- pkVZ esa dqath iznku dh tkrh gS % 

¼v½ eSu e’khu pkVZ esa 

¼c½ yksM pkVZ esa 

¼l½ izxfr pkVZ esa 

¼n½ xSaV pkVZ esa 

Key to chart is provided in : 

(a) Man machine chart 

(b) The load chart 

(c) The progress chart 

(d) Gantt chart 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nks ;k rhu okD;ksa esa nhft,A 

 Attempt any eight questions in two or three sentences. 

1- ^mRiknu izca/k* dks ifjHkkf”kr dhft,A 

Define ‘Production Management’. 
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2- MRP D;k gS \ 

What is MRP ? 

3- mRiknu izca/k ds dksbZ nks dk;Z fyf[k,A 

Write two functions of Production Management. 

4- mRiknu fu;kstu D;k gS \ 

What is Production Planning ? 

5- izfØ;k fMtkbu D;k gS \ 

What is process design ? 

6- la;U= LFkku fu/kkZj.k dk vFkZ crkb,A 

Explain the meaning of plant location. 

7- la;a= vfHkU;kl ds nks mís’; fyf[k,A 

Write two objectives of plant lay-out. 

8- dk;Z ekiu ds dksbZ nks mi;ksx fyf[k,A 

Write any two uses of work measurement. 

9- mRiknu fu;a=.k ds fdUgha pkj pj.kksa dks fyf[k,A 

Write any four phases of production control. 

10- fujh{k.k midj.k D;k gS \ 

What is Inspection Device ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 
(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A vf/kdre ‘kCn lhek 75 ‘kCnA 
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 Attempt any eight questions. Maximum word limit  

75 words. 

1- mRiknu izca/k dh izdf̀r dk o.kZu dhft,A 

Describe the nature of production management. 

2- fofuekZ.k iz.kkfy;ksa ds izdkj fyf[k,A 

Write types of manufacturing systems. 

3- izfØ;k fu;kstu iz.kkyh D;k gS \ 

What is the process planning system. 

4- mRiknu fu;kstu ds D;k mís’; gSa \ 

What are the objectives of production planning ? 

5- dk;Zikyu dh rduhd fyf[k,A 

Write technique of work measurement. 

6- dk;Z ljyhdj.k dk;ZØe D;k gS \ 

What is work simplification programme ? 

7- fLFkj vfHkU;kl D;k gS \ 

What is stationary layout ? 

8- vkn’kZ la;a= LFkkuh;dj.k ds D;k ykHk gSa \ 

What are the advantages of ideal plant location ? 

9- lkaf[;dh; xq.koŸkk fu;a=.k rduhdksa ds ykHk dh O;k[;k dhft,A 

Explain the benefits of statistical quality control techniques. 

10- fujh{k.k izfØ;k ,oa fjdkWMZ dh foospuk dhft,A 

Discuss inspection procedure and records. 
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 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A vf/kdre ‘kCn lhek 150 ‘kCnA 

 Attempt all questions. Maximum word limit 150 words. 

1- ,d cM+h fuekZ.kh dEiuh ds fy, mRiknu laxBu dh :ijs[kk crkb;sA 

Suggest the outline of production organization for a big 

manufacturing company. 

vFkok 

(Or) 

^mRiknu izca/k* dh izeq[k leL;kvksa dk foospu dhft,A 

Discuss the main problems of ‘Production Management’. 

2- mRiknu fu;kstu dks izHkkfor djus okys dkjdksa dk o.kZu dhft,A 

Discuss the factors affecting production planning. 

vFkok 

(Or) 

vlsacyh pkVZ vkSj izkslsl pkVZ ij ,d laf{kIr fVIi.kh fyf[k,A 

Write a short note on Assembly Chart and Process Chart. 

3- ^mRikn* vkSj ^izfØ;k* ysvkmV esa Hksn dhft, vkSj izR;sd ds ykHk 

crkb,A 

Differentiate between ‘Product’ and ‘Process’ layouts and 

give their respective advantages. 
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vFkok 

(Or) 

fo’ys”k.kkRed vkadyu D;k gS \ bldh izfØ;k] ykHk ,oa gkfu dk 
o.kZu dhft,A 

What is an analytical estimating ? Describe its process, 
advantages and disadvantages. 

4- ^xq.koŸkk* ls vki D;k le>rs gSa \ dSls xq.koŸkk vk’oklu ls tksj 
fn;k tk jgk gS \ 

What do you understand by ‘Quality’ ? How the emphasis is 
shifting from Quality Assurance ? 

vFkok 

(Or) 

Js”B mRiknu fu;U=.k ds izeq[k ykHk crkb,A 

State the major benefits of best production control. 
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